[ Efficiency vs vertpos |

= 0.05
9.045
2
2.0.04
(8]
@.035
o

% 0.03-

0.025]
0.02
0.015

0.01=

0.005

................................

.............................

Ratio

=
T[TTTTTTTo

e

Efficiend

2

~ 0.0

©.009F -+ e ST SO .
0 E : :
B.008F -+ oo bl S
P F . .
o o : :
D007 -+ wheeeeedenenene 11| B .
.008F koo 11 N S
(] - : :
0.005F-++cfereeenien: I .
0.004F-+++cheseeenien: sanela i S
0.003f------5eeemerieee 21|11 RS b
0.002fF +++reieeeeeiver it e
0.00TF-++++cbereeenden: 7111 S
o cobdee i L
S S 4 (MR S
1.5:— -------------------- .....................
T i i ..................

-39

[ Efficie

ncy vs. sim PV

10 20

~n 0.02
>
0.018
H.016F
9.014F
> -
_a_‘:j).mz_
SE
£ 0.0]
(]
0.008
0.006
0.004
0.002

iy
TTTT[TTTT

6 8
Sim. PV z (cm)

30

10




	Contents
	Page 1


